

Subject:

Year:

Month:

Day:

$$\begin{aligned} a_1 + ar + ar^2 &= 11 & \frac{a}{q} + a + aq &= 11 & \frac{a}{q} \times a \times aq &= 121 & a &= r \\ \frac{r}{q} + r + rq &= 11 & q &= \frac{1}{r} \end{aligned} \quad -1$$

$$\begin{aligned} a_1 + r + r^2 &= 11 & ar &= r & ar^2 &= r & q &= \frac{1}{r} \\ a^2 - (a^2 - r)(a^2 + r) &= 0 \Rightarrow a^2 - r^2 - 11 = 0 \Rightarrow (a^2 - r)(a^2 + r) = 0 \\ \wedge \left(\frac{1 - (\frac{1}{r})^2}{1 - \frac{1}{r}} \right) &= \frac{121}{r} \end{aligned} \quad -2$$

$\begin{aligned} &\rightarrow a = r \checkmark \\ &\rightarrow a = -r \times \end{aligned}$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{a^5} \quad a_1 = r^5 r^5 \quad S_5 = a_1 + a_2 + a_3 + a_4 + a_5 = a_1 (1 + q + q^2 + q^3 + q^4) = r^5 r^5 \quad -3$$

$$a_1 = 1, ar = r^5 \quad ar = a_1 + rd \quad d = 10/11 \quad a_5 = 1 + r(10/11) = r^5 r^5 \quad -4$$

$$a_1 = 1, ar = r^5 \quad q^5 = r^5 \quad q = \pm r$$

$$A+B = r^5 r^5 + 11 = r^5 r^5 \quad A+B = r^5 r^5 - 11 = r^5 r^5$$

$$d = \frac{-90}{r} - (-r^5) = \frac{1}{r} \quad a_1 = 1 = a_5 \Rightarrow \frac{aq^4}{a} = \frac{1}{121} \Rightarrow q = \frac{1}{r} \quad -5$$

$$a_1 + a_2 + a_3 + a_4 + a_5 = 1$$

$$\begin{aligned} a_1, ar, aq &\rightarrow a_1 + rd, a_1 + rd, a_1 + rd \Rightarrow (a_1 + rd)^2 = (a_1 + rd)(a_1 + rd) \Rightarrow r^2 d^2 + r^2 ad = 0 \\ d(1 + d + a_1) &= 0 \Rightarrow d = 0 \text{ or } 1 + d + a_1 = 0 \Rightarrow d = \frac{-a_1}{1} \end{aligned} \quad -6$$

$$\begin{aligned} ar, aq, aq^2 &\rightarrow a_1 + d, a_1 + rd, a_1 + vd \\ a_1, aq^2 &= \frac{1}{r} \times r^5 = 121 \\ (a_1 + rd)^2 &= (a_1 + d)(a_1 + vd) \Rightarrow r^2 d^2 - r^2 da_1 = 0 \Rightarrow d = a_1 \text{ or } d = 0 \times \end{aligned} \quad -7$$

$$\begin{aligned} r^2 ar, r^2 aq, ar &\rightarrow r^2 aq, r^2 aq^2, aq^2 \\ r^2 aq^2 - r^2 aq &= a_1 q^2 - a_1 q^2 \rightarrow a_1 q (q^2 - r^2) \Rightarrow a_1 q (q^2 - r^2) \\ q^2 - r^2 &= q^2 - r^2 \Rightarrow a_1 - r^2 q + r^2 = 0 \\ (q-1)(q-r) &= 0 \Rightarrow q = 1 \text{ or } q = r \end{aligned} \quad -8$$

$q = 1 \times$

Subject:

Year:

Month:

Day:

$$Y \frac{V}{P} \rightarrow d = -\frac{1}{P}$$

$$a_R = Y + \frac{V}{P} = \frac{V}{P} \quad a_R = Y + \frac{-V}{P} = \frac{1}{P}$$

-9

$$a_{R^*} = Y + \frac{V}{P} = 1$$

$$a_R + K, a_A + K, a_{1^*} + K \rightarrow \frac{V}{P} K, \frac{1}{P} + K, -1 + K \Rightarrow \left(\frac{1}{P} + K\right)^Y = \left(\frac{V}{P} + K\right)(K-1)$$

$$\frac{1}{P} + K + \frac{K}{P} = K^Y - \frac{V}{P} + K \Rightarrow K = -\frac{V}{P} \quad -K, -1, -\frac{V}{P} \Rightarrow Q = \frac{V}{P}$$

-10

$$a_1, a_R, a_V$$

$$a_1 + a_R + a_V = V^R \quad a_1 = 1, a_R = 1, a_V = 1$$

$$a_F - a_1 = \frac{a_V - a_R}{V} \rightarrow a_1 (q^R - 1) \Rightarrow \frac{a_1 q^R (q^R - 1)}{V} = 1 \Rightarrow q = 1$$

$$V_a = V^R \Rightarrow a = \frac{V^R}{P}$$

$$d = a q^R - a \Rightarrow \frac{V^R}{P} - \frac{V^R}{P} = 0$$